Edge of Arlington Saw & Tool, Inc.

124 South Collins Arlington, TX 76010 Phone:817-461-7171 • Fax: 817-795-6651 Toll Free: 888-461-7171 Email: info@eoasaw.com Website: www.eoasaw.com



Type 260

Viking Drill & Tool General Purpose HSS Screw Machine Type 260 - Fractional

Thank you for shopping with us!

118° Point - High-Speed Steel - General Purpose, Bright-Flute thru 3/4" diameter. Surface treated flutes over 3/4" diameter. • Can be used for all screw machines qualified to run in all applications. • This drill is designed for ease of penetration and to facilitate chip removal in tough, hard materials. • May also be used in portable drilling equipment. Drill sizes over 1-1/16" have a reduced shank. The short length of drill and flute makes this an especially rigid drill for greater drilling accuracy.

Drill Size	Shank Diameter
1-1/16" to 1-1/4"	1"
1- 5/16" to 1-1/2"	1-1/4"
1-9/16" to 2"	1-1/2"

Item #	Manufacturer	Diameter	Flute	Overall Length	Unit Price	Pack Quantity	Price
23870	Viking Drill & Tool	1/16 in	5/8 in flute length	1 5/8 in	\$1.24	12	\$14.88
23860	Viking Drill & Tool	3/64 in	1/2 in flute length	1 3/8 in	\$1.28	12	\$15.36
23890	Viking Drill & Tool	3/32 in	3/4 in flute length	1 3/4 in	\$1.24	12	\$14.88
23880	Viking Drill & Tool	5/64 in	11/16 in flute length	1 11/16 in	\$1.24	12	\$14.88
23910	Viking Drill & Tool	1/8 in	7/8 in flute length	1 7/8 in	\$1.24	12	\$14.88
23900	Viking Drill & Tool	7/64 in	13/16in flute length	1 13/16 in	\$1.24	12	\$14.88
23920	Viking Drill & Tool	9/64 in	15/16 in flute length	1 15/16 in	\$1.24	12	\$14.88
23930	Viking Drill & Tool	5/32 in	1 in flute length	2 1/16 in	\$1.36	12	\$16.32
23940	Viking Drill & Tool	11/64 in	1 1/16 in flute length	2 1/8 in	\$1.52	12	\$18.24
23950	Viking Drill & Tool	3/16 in	1 1/8 in flute length	2 3/16 in	\$1.60	12	\$19.20
23960	Viking Drill & Tool	13/64 in	1 3/16 in flute length	2 1/4 in	\$1.66	12	\$19.92
23970	Viking Drill & Tool	7/32 in	1 1/4 in flute length	2 3/8 in	\$2.00	12	\$24.00
23990	Viking Drill & Tool	1/4 in	1 3/8 in flute length	2 1/2 in	\$2.12	12	\$25.44
23980	Viking Drill & Tool	15/64 in	1 5/16 in flute length	2 7/16 in	\$2.02	12	\$24.24
24000	Viking Drill & Tool	17/64 in	1 7/16 in flute length	2 5/8 in	\$2.54	12	\$30.48
24010	Viking Drill & Tool	9/32 in	1 1/2 in flute length	2 11/16 in	\$2.74	12	\$32.88
24020	Viking Drill & Tool	19/64 in	1 9/16 in flute length	2 3/4 in	\$2.92	6	\$17.52
24030	Viking Drill & Tool	5/16 in	1 5/8 in flute length	2 13/16 in	\$3.16	6	\$18.96
24040	Viking Drill & Tool	21/64 in	1 11/16 in flute length	2 15/16 in	\$3.42	6	\$20.52
24050	Viking Drill & Tool	11/32 in	1 11/16 in flute length	3 in	\$3.90	6	\$23.40
24080	Viking Drill & Tool	25/64 in	1 7/8 in flute length	3 1/4 in	\$5.34	6	\$32.04
24070	Viking Drill & Tool	3/8 in	1 13/16 in flute length	3 1/8 in	\$4.74	6	\$28.44
24060	Viking Drill & Tool	23/64 in	1 3/4 in flute length	3 1/16 in	\$4.52	6	\$27.12

24090	Viking Drill & Tool	13/32 in	1 15/16 in flute length	3 5/16 in	\$5.66	6	\$33.96
24100	Viking Drill & Tool	27/64 in	2 in flute length	3 3/8 in	\$6.12	6	\$36.72
24110	Viking Drill & Tool	7/16 in	2 1/16 in flute length	3 7/16 in	\$6.26	6	\$37.56
24120	Viking Drill & Tool	29/64 in	2 1/8 in flute length	3 9/16 in	\$7.42	6	\$44.52
24130	Viking Drill & Tool	15/32 in	2 1/8 in flute length	3 5/8 in	\$7.90	6	\$47.40
24140	Viking Drill & Tool	31/64 in	2 3/16 in flute length	3 11/16 in	\$8.12	6	\$48.72
24150	Viking Drill & Tool	1/2 in	2 1/4 in flute length	3 3/4 in	\$8.12	6	\$48.72
24170	Viking Drill & Tool	17/32 in	2 3/8 in flute length	3 7/8 in		1	\$21.53
24180	Viking Drill & Tool	35/64 in	2 1/2 in flute length	4 in		1	\$22.44
24160	Viking Drill & Tool	33/64 in	2 3/8 in flute length	3 7/8 in		1	\$20.60
24190	Viking Drill & Tool	9/16 in	2 1/2 in flute length	4 in		1	\$22.44
24200	Viking Drill & Tool	37/64 in	2 5/8 in flute length	4 1/8 in		1	\$25.68
24210	Viking Drill & Tool	19/32 in	2 5/8 in flute length	4 1/8 in		1	\$25.68
24220	Viking Drill & Tool	39/64 in	2 3/4 in flute length	4 1/4 in		1	\$26.90
24230	Viking Drill & Tool	5/8 in	2 3/4 in flute length	4 1/4 in		1	\$25.94
24240	Viking Drill & Tool	41/64 in	2 7/8 in flute length	4 1/2 in		1	\$29.70
24250	Viking Drill & Tool	21/32 in	2 7/8 in flute length	4 1/2 in		1	\$33.01
24270	Viking Drill & Tool	11/16 in	2 7/8 in flute length	4 1/2 in		1	\$33.01
24260	Viking Drill & Tool	43/64 in	2 7/8 in flute length	4 1/2 in		1	\$29.70
24290	Viking Drill & Tool	23/32 in	3 in flute length	4 3/4 in		1	\$35.74
24280	Viking Drill & Tool	45/64 in	3 in flute length	4 3/4 in		1	\$35.74
24300	Viking Drill & Tool	47/64 in	3 1/8 in flute length	5 in		1	\$38.46
24310	Viking Drill & Tool	3/4 in	3 1/8 in flute length	5 in		1	\$37.77
24320	Viking Drill & Tool	49/64 in	3 1/4 in flute length	5 1/8 in		1	\$41.18

24330	Viking Drill & Tool 25/32	in 3 1/4 in flute length	5 1/8 in	 1	\$41.18
24340	Viking Drill & Tool 51/64	in 3 3/8 in flute length	5 1/4 in	 1	\$44.01
24350	Viking Drill & Tool 13/16	in 3 3/8 in flute length	5 1/4 in	 1	\$43.35
24370	Viking Drill & Tool 27/32	in 3 1/2 in flute length	5 3/8 in	 1	\$45.96
24360	Viking Drill & Tool 53/64	in 3 1/2 in flute length	5 3/8 in	 1	\$45.96
24380	Viking Drill & Tool 55/64	in 3 1/2 in flute length	5 3/8 in	 1	\$47.52
24390	Viking Drill & Tool 7/8 in	3 1/2 in flute length	5 3/8 in	 1	\$47.18
24400	Viking Drill & Tool 57/64	in 3 5/8 in flute length	5 5/8 in	 1	\$49.35
24410	Viking Drill & Tool 29/32	in 3 5/8 in flute length	5 5/8 in	 1	\$49.35
24420	Viking Drill & Tool 59/64	in 3 3/4 in flute length	5 3/4 in	 1	\$54.44
24430	Viking Drill & Tool 15/16	in 3 3/4 in flute length	5 3/4 in	 1	\$54.44
24440	Viking Drill & Tool 61/64	in 3 7/8 in flute length	5 7/8 in	 1	\$59.13
24450	Viking Drill & Tool 31/32	in 3 7/8 in flute length	5 7/8 in	 1	\$59.13
24460	Viking Drill & Tool 63/64	in 4 in flute length	6 in	 1	\$62.66
24470	Viking Drill & Tool 1 in	4 in flute length	6 in	 1	\$60.63
24480	Viking Drill & Tool 1 1/16	5 in 4 in flute length	6 1/4 in	 1	\$77.22
24490	Viking Drill & Tool 1 1/8	in 4 in flute length	6 3/8 in	 1	\$87.47
24500	Viking Drill & Tool 1 3/16	5 in 4 1/4 in flute length	6 5/8 in	 1	\$101.52
24510	Viking Drill & Tool 11/4	in 4 3/8 in flute length	6 3/4 in	 1	\$90.73
24520	Viking Drill & Tool 1 5/16	5 in 4 3/8 in flute length	7 in	 1	\$159.64
24530	Viking Drill & Tool 1 3/8	in 4 1/2 in flute length	7 1/8 in	 1	\$170.18
24540	Viking Drill & Tool 17/16	5 in 4 3/4 in flute length	7 3/8 in	 1	\$182.49
24550	Viking Drill & Tool 1 1/2	in 4 7/8 in flute length	7 1/2 in	 1	\$192.37
24560	Viking Drill & Tool 1 9/16	5 in 47/8 in flute length	7 3/4 in	 1	\$217.34

24570 Viking Drill & Tool 1 5/8 in 4 7/8 ir	n flute length 7 3/4 in	 1 \$	243.88
24580 Viking Drill & Tool 1 11/16 in 5 1/8 ir	n flute length 8 in	 1 \$	278.83
24590 Viking Drill & Tool 1 3/4 in 5 1/8 ir	n flute length 8 in	 1 \$	288.87
24600 Viking Drill & Tool 113/16 in 53/8 ir	n flute length 8 1/4 in	 1 \$	\$316.84
24610 Viking Drill & Tool 1 7/8 in 5 3/8 ir	n flute length 8 1/4 in	 1 \$	325.93
24620 Viking Drill & Tool 1 15/16 in 5 5/8 ir	n flute length 8 1/2 in	 1 \$	\$345.72
24630Viking Drill & Tool2 in5 5/8 in	n flute length 8 1/2 in	 1 \$	363.27